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E = vh(? ) Nerest Potential

for multiply charged ions

E = Er(s)
ion E

antwal Kt - 80mW (in] > [out]

inward Nat +50mV (in) <Cout]

inward Catt + 200mV (in) [ort]

e 4- -
40mU (in) <[ort)
nee

exc .
OmV

F or Minh
.

-

k1 =ci-

also ion pumps
- Na-k exchanger



I = 9m(V - E) is positio tad 9

·Esalt-E)+ ext

5) E ?

In = 5
,

(V - Ex) + (n(r- Ex) +---

In = Si+Snat---

E = i swee. he



5) Passive neuron model ⑩

c = - Sm(V - E) + Iext

C = cA 9 = En

= E - V + Ratext

C = Y =
16x15F: (x1652

M

= 10mS

-

0 . 1mm
- m= I- -

mS S

98 20200 -
(m/s bi

g
<xons

um

e 100m/, mylination



⑪

T =
E - V + RaFext

RmFext = I



+ = E + 1-

a) I = constant
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7) Integrated Fire Model ⑪
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6) I(t)

V = E + x
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⑱another
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